J -
KERF O 7y ava

5,

1. =&Y 7 R— ML DR ORI E R

4 — Jo— 617 — AUERT

Ty a4 v ANHERTO U REFH AR R

SF 44 6 H 25 H
TG RRBR BE %] 3R =

D ik IR A AT OB BEF AR RITK DO LB D T

(1) EHAR— K ANy WY
2) = —= APERTH A = — X
(3) A4 H IRy S 44 6H24H  09:39 ~ 10:56
(4) FHARE R M 2 ~ 4 nGy/h
1K 13 ~ 16 cps
2. F=H U U TRA BT D HEHROBIERE$
RS ZE A (FE TR
(1) FAA AR H 40 44 6H23H 15:00 |H 4F0 44 5H16H 11:30
E AT 448 6H248  15:00 | S0 44 6H23H  15:00
O\ EEE 15/ |%&=# 15 ~ 19  nGy/h |ZE[] 15 ~ 43  nGy/h
No. 1 WK 7 ~ 9 cps 1K 7T o~ 17 cps
i No. 2 17K 8 ~ 11 cps 17K 8 ~ 13 cps
T ERE Q) B |%4M 13 ~ 16 nGy/h |2¢M] 12 ~ 41  nGy/h
it WK 7 ~ 10  cps WK 7 ~ 19  cps
HINBRME BB |ZEMW 19 ~ 24 nGy/h |ZE# 19 ~ 37  nGy/h
RERATS (45) 7y [25R] 19 ~ 23 nGy/h Z=H 18 ~ 37 nGy/h
3. K & If

ARAHERE R BT 2 RIAEE - R AT A E SR U BRER BE R R =
RAHBERT . S H 10BE~1205, 130E~ 185

EE : 03-5114-2126




KE T

4 — I — 617 — AHIHH

R 7y a v AR OB RER AR R

5,

SF 44 6 H 25 H
TG RRBR BE %] R =

T yavav O&RPHEEA R OBSERERRIIRO LY T

. =&Y 7 R— ML DR ORE R

(D) FEHA— K DO A

Q) A —=R AR A = — 2 OV PR AR = — 2
(3) P4 B F SF 44 6H25H  09:08 ~ 12:36
(4) RERER ZE 2 ~ 4 nGy/h

K 13 ~ 17 cps

2. B=H U T IRA M XD RO R E RS R
Reg S
(1) A B A0 44 6H24H 15:00 W &
OS5 44 6H25H  12:00
QEEEE (15) R/ (2@ 15 ~ 19  nGy/h
No. 1 HEK 7T~ 9 cps
= No. 2 7K 8§ ~ 11 cps
#|EEEE Q) )/ |%5R 13 ~ 16  nGy/h
i 7K 7 ~ 10 cps
* NEREE BB)R [ZEM 20 ~ 23 nGy/h
RERAER (45) ]/ |22 18 ~ 23 nGy/h
3. R & Mg
4. i &

(1) KEFE T

T2y 4y R, AFAECH25H (1) 1015024y, dRU A FE—F

W EARE R H 192 1722m O AU AR L, [Fl H 10FF43 553 12 H#E L 7=,
(2) MIERERIL, S 46 H24 H (4) 12 3FE L 7= ABERTHA OBIEM & [F— L)L T

5,

A RE R BT 2 RIAEE - R AT ARSI BRER BE R R =
ZEEE : 03-5114-2126 RHAH IR - SEH 10BE~120 . 130~ 18




